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Question 1
Question Type: MultipleChoice

About operational processes virtual snapshot storage array is correct.

Options: 
A- Create a virtual snapshot --- > to create a resource pool --- > Activate virtual snapshot --- > virtual snapshot rollback

B- Create a virtual snapshot --- > Activate virtual snapshot --- > to create a resource pool --- > virtual snapshot rollback

C- Create a resource pool --- > Create a virtual snapshot --- > Activate virtual snapshot --- > virtual snapshot rollback

D- None of the above comments

Answer: 
C

Question 2
Question Type: MultipleChoice



As follows using parity data redundancy protection raid levels are. (Choose two)

Options: 
A- RAID1

B- RAID2

C- RAID 3

D- RAID 5

Answer: 
C, D

Question 3
Question Type: MultipleChoice

In the storage array snapshot scenario common faults are there? (Choose three)



Options: 
A- Failed to activate snapshot

B- Snapshot rollback fails

C- Virtual snapshots automatically stop

D- Deleting a snapshot fails

Answer: 
A, B, C

Question 4
Question Type: MultipleChoice

Which of the following is a common host-side redundancy? (Choose three)

Options: 
A- The controller cache mirroring



B- Dual database failover

C- OS system disk image

D- Network interface bindings

Answer: 
B, C, D

Question 5
Question Type: MultipleChoice

How to check whether the physical status of the hard drive properly S5000 system?

Options: 
A- showdisk-p

B- showsys

C- showrg

D- showlun



Answer: 
A

Question 6
Question Type: MultipleChoice

Under FC SAN networking environment, a host LUN result in some loss of business interruption, this failure scenario, the main reason

may be? (Choose three)

Options: 
A- RAID LUN resource failure

B- iSCSI host port physical link failure

C- Switch port exception (Down / Restart)

D- HBA card failure

Answer: 
A, C, D



Question 7
Question Type: MultipleChoice

SCSI read during the interactive process, start to interact with the target startup process than writing less and the target device, the main

goal is the process of writing assignment needs to be cached.

Options: 
A- True

B- False

Answer: 
A

Question 8
Question Type: MultipleChoice

Because SAS is a serial SCSI, so the transfer rate is usually lower than parallel SCSI.



Options: 
A- True

B- False

Answer: 
B

Question 9
Question Type: MultipleChoice

Under solaris View initiator node name of the system is.

Options: 
A- cat / etc / iscsi / initiatorname.iscsi

B- iscsiadm-m node



C- iscsiadm list initiator-node

D- cfgadm

Answer: 
C
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